
 
 

   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 
 

 

 
 

 

   
 

   
  
   
   

    
    

 

  

   
    

   
  

   
    
    

  
    

  
    
   

 
 

  
    

  
     

   
   
    

    
   
     

    
  

  

  
  

   
     

 
      

  
      
      
      

  
     

    
     

     
      

   
      

     
    

    
    
     
     

     
    

Paulson/Goldman and ACA
 

Beneficial owners 

(IKB and ABN). 
Not informed that 
John Paulson was 

involved in 
portfolio selection. 
ABN would hold a 
CDS on the CDO. 

Goldman’s claimed 
loss is $88 million, 

apparently because 
it must have taken 
an equity tranche. 

1.	 Homeowners default. 
2.	 Uninsured owners of RMBS 

lose. 
3.	 CDS payouts to Paulson are 

now due. 
4.	 IKB losses $ 150 million. 
5.	 ABN loses $ 841 million. 
6.	 John Paulson makes close to 

$1 billion. 
7.	 The CDO transaction closed 

on April 26
th

, 2007. 
8.	 ACA received 50 basis 

points until ABN steps in. 
This is only $ 4.5 million 
per year. 

9.	 ABN takes its CDS position 
on May 31st 2007. 

10. ABNs position was 
unwound on August 7

th 
, 

2008. They received 17 
basis points on their CDS 
until then. So ABN assumed 
this liability for $ 1.5 
million per year? WOW. 

Short Position 
(John Paulson) 

RMBS 

Mortgage 
Payments 

(Homeowner) 

Beneficial 
Owner 

(Investor) 

Synthetic CDO 
based on CDS flow 

from RMBS. 
Selected by ACA and 
John Paulson. ACA 

believed that Paulson 
would hold a long 

(equity) position in the 
CDO. Goldman’s fee 
seems to have been 
$15 million, paid by 

John Paulson 

CDSs based on
 
RMBS
 

(No Ownership of
 
RMBS necessary)
 

CDSs sold by
 
Goldman to Paulson
 
and then moved to
 
the CDO structure.
 


